EIN| voscmesmmyresecoms

Spare Parts Reels — Closed Matrix

ARNYTR—=ILNFER—R (T7H)

EINo. REXIME/ RS R—RAmE EHRSRRS EZHEY—)LEE)
8 x 12mm, 7m 19-911-5510 (19-911-2020)
8 x 12mm, 10m 19-911-5512 (19-911-2022)
8 x 12mm, 17m 19-911-5518 (19-911-2120)
1 [9.5x13.5mm, 14m 19-911-5536 (19-911-2130)
11 x 16mm, 5m 19-911-5586 (19-911-2040)
11 x 16mm, 10m 19-911-5546 (19-911-2140)
13 x 18mm, 8m 19-911-5556 (19-911-2150)
XINo. NEXIME/ BS R—ARE EHESSHYIUST EHY—)LEE)
8 x 12mm, 10m 19-911-5517 (19-911-2083)
8 x 12mm, 17m 19-911-5529 (19-911-2183)
1 [9.5x13.5mm, 14m 19-911-5569 (19-911-2163)
11 x 16mm, 5m 19-911-5585 (19-911-2043)
11 x 16mm, 10m 19-911-5545 (19-911-2143)

AMYTR=IUFER—R (Hi-vis. Z>FRIN—D. KA)

INo. AR XIME /RS //R—RTESE M—REE FBESRRS ZHY—/LEE)
8 x 12mm, 10m, Hi-vis 19-911-5660 (19-911-2028)
8 x 12mm, 17m, Hi-vis 19-911-5664 (19-911-2128)
1 9.5 x 13.5mm, 14m, Hi-vis 19-911-5661 (19-911-2138)
9.5 x 13.5mm, 14m, Anti-spark 19-911-5538 (19-911-2132)
9.5 x 13.5mm, 14m, Water 19-911-5632 (19-911-2230)
11 x 16, 10 Water 19-911-5642 (19-911-2240)
EINo. AR XIME /RS //R—RTESE R—RBE #FERBHYITUT (EZHY—ILRE)
1 9.5 x 13.5mm, 14m, Anti-spark 19-911-5579 (19-911-2173)

EHR—X 1.5m (1:Rf)

EINo. |AExIME N—R@mE ERaRR>
8 x 12mm 19-911-5520
5 9.5 x 13.5mm 19-911-5530
11 x 16mm 19-911-5540
13 x 18mm 19-911-5550
ENo. [AExIME R—R@E #FHEB=vIIL
8 x 12mm 19-911-5583
2 9.5 x 13.5mm 19-911-5563
11 x 16mm 19-911-5543




EJH Hose & Cable Safety Reels — Closed

EHR—X 1.5m (LRMA) (Hi-vis. 7>FR)\—2)

BNo.  |AExIME

IR—RmE  EHRERRS

8 x 12mm, Hi-vis 19-911-5665
2 9.5 x 13.5mm, Hi-vis 19-911-5666
9.5 x 13.5mm, Anti-spark 19-911-5532

HNo.  |AExIME

IN—RRE ey IIL

2 9.5 x 13.5mm, Anti-spark

19-911-5573

ZART)—Y

[INo. RE ZHITBDR—AU—)L mE

3 [RbwIR=IL =TI 1 A — )Lk & NI —)L** 19-911-5500
BERIST v K B —)L* & NBUL — )L ** 19-911-5501

5 |t>4—Hh/){— CEINOT B —)L* & NI — )L ** 19-911-5700
6 U — () Al —)L* 19-911-5701
INBIL) — )% * 19-911-5702

- U () Rl — )L * 19-911-5703
INBUL) — L x* 19-911-5704

8 EX 10fEtwv ~ s — )Lk & INBLL — )L ** 19-911-5705
9 JS4oy kOvoEe> B — )Lk & NBUL — )L ** 19-911-5706
10 |EER—IL RS — )Lk & INBLL) — L%k 19-911-5707
11 IRNULERSATFT7 s — )Lk & INELL — L%k 19-911-5708
12 |[R—XHAR RS —)L* & /NEIL) — L ** 19-911-5709
13 |LRRSHT AL —)L* 19-911-5710
INBUL) — L xk 19-911-5711

14 | ~UA—#HFFY S B — )Lk & NBULJ — )L ** 19-911-5712
15 lu_s AL — )L * 19-911-5713
INBUL) — L x* 19-911-5721

16 |JL—F>a1— Aty B —)L* & NBULJ — )L ** 19-911-5714
17 |RSAJ>v Ik EXfFE B —)L* & NBUL — )L ** 19-911-5715
18 |Jxoz3>7>O)L EX. QUIfFE |hBEIU —)JL* & /NEID —)L** 19-911-5716
19 [RANJL EXR. QU TftE s — )Lk & /NBLL — )L ** 19-911-5717
20 |US5>T 2\Etv b B — )Lk & NBUL — )L ** 19-911-5718
21 |ou>d sfEtv b~ hAl) —)L* & /NBIL — )L ** 19-911-5719

* BR— U —)UREERAL 19-911-21xx, 19-911-22xx, 19-911-23xx
*ok PNER—R U —)LSREERERL 19-911-20xx




